

Description: 2017 Sidewalk, Curb and Drive Approach Repair Account # 5212-77750 PO#

				Engineer's Estimate		(1) America's Decorative Concrete		(2) RA Miller Construction Co. Inc.	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
Section 1: Def	ault Section								
0010 TREE & STUM	201-1101 IP REMOVAL, 12	EACH 2"-23", AS PER PLAN	1.00	\$1,400.000	\$1,400.00	\$810.000	\$810.00	\$1,435.000	\$1,435.00
0020 TREE & STUM	201-1201 P REMOVAL, 24	EACH 4"-35", AS PER PLAN	7.00	\$2,000.000	\$14,000.00	\$1,065.000	\$7,455.00	\$1,900.000	\$13,300.00
0030 TREE & STUM	201-1301 IP REMOVAL, 36	EACH 5" AND GREATER, AS	3.00 PER PLAN	\$2,300.000	\$6,900.00	\$1,550.000	\$4,650.00	\$2,000.000	\$6,000.00
0040 STUMP REMO	201-1501 VAL, AS PER PL	EACH AN	1.00	\$600.000	\$600.00	\$690.000	\$690.00	\$880.000	\$880.00
0050 CONCRETE C	202-2100 URB AND GUTT	FOOT ER REMOVED	6,809.00	\$11.600	\$78,984.40	\$8.800	\$59,919.20	\$11.400	\$77,622.60
0060 CONCRETE FI	202-3020 ATWORK REMO	SF OVED (9" & UNDER)	32,957.00	\$2.500	\$82,392.50	\$2.100	\$69,209.70	\$2.700	\$88,983.90
0070 EXCAVATION,	203A-1001 AS PER PLAN	СҮ	20.00	\$50.000	\$1,000.00	\$57.500	\$1,150.00	\$33.000	\$660.00
0080 PAVEMENT PI	254-1000 ANING, ASPHA	SY LT CONCRETE	9,960.00	\$1.800	\$17,928.00	\$1.390	\$13,844.40	\$1.600	\$15,936.00

				Engineer's l	Estimate	(1) America's Concre		(2) RA Miller Con Inc	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
0090 Aggregate f	304-1000 BASE	TON	300.00	\$33.000	\$9,900.00	\$27.500	\$8,250.00	\$35.000	\$10,500.00
0100 ASPHALT CON	301-1007 ICRETE BASE (TON CONTINGENC	50.00 Y)	\$70.000	\$3,500.00	\$75.040	\$3,752.00	\$70.000	\$3,500.00
0110 404LVT, ASPH	404-1000 ALT CONCRETH	TON E SURFACE CO	875.00 DURSE, PG 58-28 (448) (1	\$73.000 1.25")	\$63,875.00	\$73.830	\$64,601.25	\$71.000	\$62,125.00
0120 NON-TRACKIN	407-2000 NG TACK COAT	GAL	996.00	\$2.500	\$2,490.00	\$2.410	\$2,400.36	\$1.050	\$1,045.80
0130 4" UNDERDRA	605A-1002 AIN, 707.31	FOOT	100.00	\$30.000	\$3,000.00	\$18.800	\$1,880.00	\$20.000	\$2,000.00
0140 3" DRAIN TILE	605B-1030 E, SCHEDULE 4	FOOT 0 PVC	120.00	\$16.000	\$1,920.00	\$15.000	\$1,800.00	\$18.000	\$2,160.00
0150 4" DRAIN TILE	605B-1040 E, SCHEDULE 4	FOOT 0 PVC	50.00	\$16.000	\$800.00	\$22.000	\$1,100.00	\$18.000	\$900.00
0160 4" CONCRETE	608A-1050 SIDEWALK, IN	SF CLUDING RES	13,451.00 STORATION	\$5.850	\$78,688.35	\$5.400	\$72,635.40	\$5.400	\$72,635.40
0170 TRIPSTOP, 4' I	608A-1056 LONG (FOR USI	EACH E AT SIDEWAL	117.00 K), AS PER PLAN	\$47.000	\$5,499.00	\$70.640	\$8,264.88	\$35.000	\$4,095.00
0180 TRIPSTOP, 5' I	608A-1057 LONG (FOR USI	EACH E AT SIDEWAL	10.00 K), AS PER PLAN	\$50.000	\$500.00	\$88.040	\$880.40	\$45.000	\$450.00
0190 6" CONCRETE	608A-2050 SIDEWALK, IN	SF CLUDING RES	4,714.00 STORATION	\$5.750	\$27,105.50	\$6.250	\$29,462.50	\$6.000	\$28,284.00
0200 6" CONCRETE	608A-2160 DRIVE APPRO	SF ACH, INCLUD	14,040.00 ING RESTORATION	\$5.800	\$81,432.00	\$5.600	\$78,624.00	\$6.000	\$84,240.00
0210 6" CONCRETE	608A-3050 CURB RAMP, I	SF NCLUDING RI	708.00 ESTORATION	\$9.000	\$6,372.00	\$8.100	\$5,734.80	\$7.250	\$5,133.00
0220 DETECTABLE	608A-3083 WARNING, AS	SF PER PLAN	80.00	\$37.000	\$2,960.00	\$26.800	\$2,144.00	\$38.000	\$3,040.00
0230 ASPHALT DRI	608B-1400 VEWAY	SF	200.00	\$8.000	\$1,600.00	\$10.600	\$2,120.00	\$5.500	\$1,100.00

				Engineer's	Estimate	(1) America's Concr		(2) RA Miller Construction Co. Inc.	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
0240 CONCRETE C	609-1050 URB AND GUT	FOOT TER, IN-KIND, INCI	3,819.00 LUDING RESTORA	\$25.000 ATION	\$95,475.00	\$25.800	\$98,530.20	\$27.000	\$103,113.00
0250 ODOT TYPE 6	609-1354 CONCRETE C	FOOT URB, MACHINE-SET	2,608.00 F, INCLUDING RES	\$20.000 STORATION, AS P	\$52,160.00 ER PLAN	\$21.300	\$55,550.40	\$21.000	\$54,768.00
0260 CATCH BASIN	611-1810 ADJUSTED TO	EACH O GRADE, TYPE 1	1.00	\$500.000	\$500.00	\$685.000	\$685.00	\$535.000	\$535.00
0270 CATCH BASIN	611-1820 ADJUSTED TO	EACH O GRADE, TYPE 2	1.00	\$800.000	\$800.00	\$688.000	\$688.00	\$1,080.000	\$1,080.00
0280 MANHOLE AD	611-2810 JUSTED TO G	EACH RADE, TYPE 1	1.00	\$600.000	\$600.00	\$445.000	\$445.00	\$385.000	\$385.00
0290 MANHOLE AD	611-2820 JUSTED TO G	EACH RADE, TYPE 2	1.00	\$800.000	\$800.00	\$562.830	\$562.83	\$660.000	\$660.00
0300 MANHOLE AD	611-2823 JUSTED TO G	EACH RADE, TYPE 2, WITH	1.00 I NEW FRAME AN	\$1,000.000 ID LID, AS PER PI	\$1,000.00 LAN	\$965.000	\$965.00	\$753.500	\$753.50
0305 LOW STRENG	613-1000 TH MORTAR E	CY BACKFILL, LSM 100	95.00	\$70.000	\$6,650.00	\$92.000	\$8,740.00	\$94.000	\$8,930.00
0310 MAINTAINING	614-1001 G TRAFFIC, AS	LS PER PLAN	1.00	\$13,879.750	\$13,879.75	\$28,000.000	\$28,000.00	\$26,000.000	\$26,000.00
0320 CHANNELIZII	644-1800 NG LINE, 6"	FOOT	50.00	\$1.750	\$87.50	\$2.350	\$117.50	\$2.200	\$110.00
0330 CENTER LINE	644-1500 , DOUBLE SO	MILE LID	0.30	\$6,000.000	\$1,800.00	\$9,817.250	\$2,945.18	\$9,358.500	\$2,807.55
0340 STOP LINE, 24	644-2100 1"	FOOT	26.00	\$6.000	\$156.00	\$6.050	\$157.30	\$5.750	\$149.50
0350 CROSSWALK	644-2200 LINE, 12"	FOOT	60.00	\$3.000	\$180.00	\$3.910	\$234.60	\$3.700	\$222.00
0360 LANE ARROW	644-3000	EACH	1.00	\$500.000	\$500.00	\$165.000	\$165.00	\$153.000	\$153.00
0370 DETECTOR LO	632-6300 DOP	EACH	2.00	\$2,000.000	\$4,000.00	\$1,430.000	\$2,860.00	\$1,938.000	\$3,876.00

				Engineer's E	Estimate	(1) America's I Concre		(2) RA Miller Con Inc.	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
0380 TOPSOIL FUR	653-0301 NISHED AND F	TON PLACED, 4" DEPTH, AS	6.00 PER PLAN	\$39.000	\$234.00	\$68.000	\$408.00	\$22.000	\$132.00
0390 SEEDING ANI	659-0101 O MULCHING, A	SY AS PER PLAN	25.00	\$9.000	\$225.00	\$45.000	\$1,125.00	\$5.500	\$137.50
0400 WATER VALVE	901-6362 ADJUSTED TO	EACH GRADE, PER MCES SF	10.00 PECIFICATIONS	\$800.000	\$8,000.00	\$300.000	\$3,000.00	\$60.500	\$605.00
0410 WATER VALVE	901-6363 ADJUSTED TO	EACH GRADE, PER MCES SF	2.00 PECIFICATIONS	\$600.000 , WITH COUNTY	\$1,200.00 PROVIDED FRAM	\$400.000 ME AND LID	\$800.00	\$495.000	\$990.00
0420 WATER METE	901-6521 R PIT ADJUSTE	EACH D TO GRADE PER MCE	1.00 S	\$600.000	\$600.00	\$465.000	\$465.00	\$770.000	\$770.00
0430 Sanitary Ma	902-2000 NHOLE ADJUS	EACH TED TO GRADE, PER M	5.00 ICES SPECIFICA	\$800.000 ATIONS	\$4,000.00	\$655.000	\$3,275.00	\$385.000	\$1,925.00
0440 SANITARY MA	902-2005 NHOLE ADJUS	EACH TED TO GRADE, PER M	2.00 ICES SPEC, WIT	\$700.000 TH COUNTY PRO	\$1,400.00 VIDED FRAME A	\$475.000 ND LID, AS PER P	\$950.00 PLAN	\$797.500	\$1,595.00
0450 EXCESS COST	915-1201 OF HIGH-EAR	SF LY-STRENGTH CEMEN	400.00 T (MEDIUM-SE	\$5.000 Г), 4"-6" CONCRI	\$2,000.00 ETE FLATWORK	\$3.150	\$1,260.00	\$2.000	\$800.00
0460 EXCESS COST	915-1301 OF HIGH-EAR	FOOT LY-STRENGTH CEMEN	200.00 T (MEDIUM-SE	\$5.000 Г), CONCRETE С	\$1,000.00 CURB	\$3.600	\$720.00	\$2.000	\$400.00
0470 RAISED PAVE	202-5000 MENT MARKEF	EACH REMOVED	2.00	\$8.000	\$16.00	\$75.000	\$150.00	\$19.250	\$38.50
0480 RAISED PAVE	621-1000 MENT MARKEF	EACH 8, TWO-WAY, WHITE-RE	3.00 2D	\$100.000	\$300.00	\$73.400	\$220.20	\$75.450	\$226.35
0490 RAISED PAVE	621-2000 MENT MARKEF	EACH 2, TWO-WAY, YELLOW-Y	22.00 ELLOW	\$100.000	\$2,200.00	\$73.400	\$1,614.80	\$75.450	\$1,659.90
0500 RAISED PAVE	621-3000 MENT MARKEF	EACH R, TWO-WAY, BLUE-BLU	10.00 E	\$100.000	\$1,000.00	\$73.400	\$734.00	\$75.450	\$754.50
Section 2: PO	RTION OF OPV	VC #CD02T/CD03T (I	AVING OF BAY	LOR, BRADDO	CK & TIFFANY)				
1010 CONCRETE C	202-2100 URB AND GUTT	FOOT TER REMOVED	40.00	\$11.500	\$460.00	\$8.800	\$352.00	\$11.400	\$456.00
1020 CONCRETE F	202-3020 LATWORK REM	SF OVED (9" & UNDER)	500.00	\$2.500	\$1,250.00	\$2.100	\$1,050.00	\$2.700	\$1,350.00

				Engineer's	Estimate	(1) America's Decorative Concrete		(2) RA Miller Co Inc	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	Price	Extension
1030 Pavement pi	254-1000 ANING, ASPHAI	SY LT CONCRETE	14,400.00	\$1.800	\$25,920.00	\$1.390	\$20,016.00	\$1.600	\$23,040.00
1040 404LVT, ASPH	404-1000 ALT CONCRETE	TON SURFACE COU	1,260.00 RSE, PG 58-28 (448)	\$73.000 (1.25")	\$91,980.00	\$73.830	\$93,025.80	\$71.000	\$89,460.00
1050 NON-TRACKIN	407-2000 NG TACK COAT	GAL	1,440.00	\$2.500	\$3,600.00	\$2.410	\$3,470.40	\$1.050	\$1,512.00
1060 4" CONCRETE	608A-1050 SIDEWALK, INC	SF CLUDING REST	80.00 ORATION	\$5.750	\$460.00	\$5.400	\$432.00	\$5.400	\$432.00
1070 6" CONCRETE	608A-3050 CURB RAMP, IN	SF ICLUDING RES	420.00 TORATION	\$9.000	\$3,780.00	\$8.100	\$3,402.00	\$7.250	\$3,045.00
1080 DETECTABLE	608A-3083 WARNING, AS P	SF ER PLAN	20.00	\$37.000	\$740.00	\$26.800	\$536.00	\$38.000	\$760.00
1090 CONCRETE C	609-1050 URB AND GUTTI	FOOT ER, IN-KIND, IN	40.00 CLUDING RESTORA	\$25.000 FION	\$1,000.00	\$25.800	\$1,032.00	\$27.000	\$1,080.00
1100 MANHOLE AD	611-2810 JUSTED TO GRA	EACH DE, TYPE 1	5.00	\$600.000	\$3,000.00	\$275.000	\$1,375.00	\$385.000	\$1,925.00
1110 MANHOLE AD	611-2820 JUSTED TO GRA	EACH DE, TYPE 2	4.00	\$800.000	\$3,200.00	\$275.000	\$1,100.00	\$660.000	\$2,640.00
1120 MANHOLE AD	611-2823 JUSTED TO GRA	EACH DE, TYPE 2, W	5.00 TH NEW FRAME AN	\$1,000.000 D LID, AS PER P	\$5,000.00 LAN	\$965.000	\$4,825.00	\$753.500	\$3,767.50
1130 WATER LINE V	901-6310 /ALVE BOX ADJU	EACH ISTED TO GRAI	10.00 DE, PER MCES SPECI	\$800.000 FICATIONS	\$8,000.00	\$300.000	\$3,000.00	\$165.000	\$1,650.00
(64 Items)			Totals:		\$842,000.00		\$790,362.10		\$830,719.50

				(3) Adleta	a, Inc	(4) LJ DEWEES	E CO., INC
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension
Section 1: Defa	ult Section						
0010 TREE & STUM	201-1101 P REMOVAL, 12"-	EACH 23", AS PER PLAN	1.00	\$525.000	\$525.00	\$900.000	\$900.00
0020 TREE & STUM	201-1201 P REMOVAL, 24"-	EACH 35", AS PER PLAN	7.00	\$787.500	\$5,512.50	\$1,500.000	\$10,500.00
0030 TREE & STUM	201-1301 P REMOVAL, 36"	EACH AND GREATER, AS PEI	3.00 R PLAN	\$1,050.000	\$3,150.00	\$2,000.000	\$6,000.00
0040 STUMP REMOV	201-1501 VAL, AS PER PLA	EACH N	1.00	\$525.000	\$525.00	\$500.000	\$500.00
0050 CONCRETE CU	202-2100 IRB AND GUTTEI	FOOT R REMOVED	6,809.00	\$8.040	\$54,744.36	\$12.000	\$81,708.00
0060 CONCRETE FL	202-3020 ATWORK REMOV	SF ⁄ED (9" & UNDER)	32,957.00	\$3.060	\$100,848.42	\$3.000	\$98,871.00
0070 EXCAVATION, A	203A-1001 AS PER PLAN	СҮ	20.00	\$40.570	\$811.40	\$25.000	\$500.00
0080 PAVEMENT PL	254-1000 ANING, ASPHALI	SY CONCRETE	9,960.00	\$1.520	\$15,139.20	\$1.500	\$14,940.00
0090 AGGREGATE B	304-1000 ASE	TON	300.00	\$49.350	\$14,805.00	\$30.000	\$9,000.00
0100 ASPHALT CON	301-1007 CRETE BASE (CC	TON NTINGENCY)	50.00	\$73.500	\$3,675.00	\$75.000	\$3,750.00
0110 404LVT, ASPHA	404-1000 LT CONCRETE S	TON URFACE COURSE, PG	875.00 58-28 (448) (1.25")	\$70.350	\$61,556.25	\$70.000	\$61,250.00
0120 NON-TRACKIN	407-2000 G TACK COAT	GAL	996.00	\$1.050	\$1,045.80	\$1.000	\$996.00
0130 4" UNDERDRA	605A-1002 IN, 707.31	FOOT	100.00	\$30.660	\$3,066.00	\$8.000	\$800.00
0140 3" DRAIN TILE	605B-1030 , SCHEDULE 40 1	FOOT PVC	120.00	\$30.660	\$3,679.20	\$8.000	\$960.00
0150 4" DRAIN TILE	605B-1040 , SCHEDULE 40 1	FOOT PVC	50.00	\$30.660	\$1,533.00	\$8.000	\$400.00

				(3) Adleta	, Inc	(4) LJ DEWEESE CO., INC	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension
0160 4" CONCRETE	608A-1050 SIDEWALK, INCL	SF UDING RESTORATION	13,451.00	\$7.350	\$98,864.85	\$6.000	\$80,706.00
0170 TRIPSTOP, 4' L	608A-1056 ONG (FOR USE AT	EACH T SIDEWALK), AS PER PLA	117.00 N	\$7.090	\$829.53	\$50.000	\$5,850.00
0180 TRIPSTOP, 5' L	608A-1057 ONG (FOR USE AT	EACH T SIDEWALK), AS PER PLA	10.00 N	\$7.090	\$70.90	\$60.000	\$600.00
0190 6" CONCRETE	608A-2050 SIDEWALK, INCL	SF UDING RESTORATION	4,714.00	\$7.310	\$34,459.34	\$6.000	\$28,284.00
0200 6" CONCRETE	608A-2160 DRIVE APPROACH	SF H, INCLUDING RESTORAT	14,040.00 TON	\$8.470	\$118,918.80	\$6.000	\$84,240.00
0210 6" CONCRETE	608A-3050 CURB RAMP, INC	SF LUDING RESTORATION	708.00	\$14.250	\$10,089.00	\$8.000	\$5,664.00
0220 DETECTABLE	608A-3083 WARNING, AS PEF	SF R PLAN	80.00	\$18.240	\$1,459.20	\$42.000	\$3,360.00
0230 ASPHALT DRIV	608B-1400 /EWAY	SF	200.00	\$6.420	\$1,284.00	\$5.000	\$1,000.00
0240 CONCRETE CU	609-1050 JRB AND GUTTER	FOOT , IN-KIND, INCLUDING RE	3,819.00 ESTORATION	\$26.310	\$100,477.89	\$34.000	\$129,846.00
0250 ODOT TYPE 6	609-1354 CONCRETE CURB,	FOOT , MACHINE-SET, INCLUDI	2,608.00 NG RESTORATION	\$13.400 I, AS PER PLAN	\$34,947.20	\$14.000	\$36,512.00
0260 CATCH BASIN	611-1810 ADJUSTED TO GR	EACH ADE, TYPE 1	1.00	\$829.790	\$829.79	\$600.000	\$600.00
0270 CATCH BASIN	611-1820 ADJUSTED TO GR	EACH ADE, TYPE 2	1.00	\$829.790	\$829.79	\$900.000	\$900.00
0280 MANHOLE AD	611-2810 JUSTED TO GRADI	EACH E, TYPE 1	1.00	\$497.340	\$497.34	\$375.000	\$375.00
0290 MANHOLE AD	611-2820 JUSTED TO GRADI	EACH E, TYPE 2	1.00	\$672.830	\$672.83	\$625.000	\$625.00
0300 MANHOLE AD	611-2823 JUSTED TO GRADI	EACH E, TYPE 2, WITH NEW FRA	1.00 AME AND LID, AS	\$739.050 PER PLAN	\$739.05	\$725.000	\$725.00
0305 LOW STRENG	613-1000 TH MORTAR BACK	CY FILL, LSM 100	95.00	\$127.930	\$12,153.35	\$100.000	\$9,500.00

				(3) Adleta	, Inc	(4) LJ DEWEES	E CO., INC
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension
0310 MAINTAINING	614-1001 TRAFFIC, AS PER	LS R PLAN	1.00	\$5,250.000	\$5,250.00	\$29,000.000	\$29,000.00
0320 CHANNELIZINO	644-1800 G LINE, 6"	FOOT	50.00	\$3.150	\$157.50	\$3.300	\$165.00
0330 CENTER LINE,	644-1500 DOUBLE SOLID	MILE	0.30	\$10,171.370	\$3,051.41	\$11,000.000	\$3,300.00
0340 STOP LINE, 24"	644-2100	FOOT	26.00	\$10.500	\$273.00	\$12.000	\$312.00
0350 CROSSWALK LI	644-2200 NE, 12"	FOOT	60.00	\$5.250	\$315.00	\$6.000	\$360.00
0360 LANE ARROW	644-3000	EACH	1.00	\$121.800	\$121.80	\$135.000	\$135.00
0370 DETECTOR LOO	632-6300 DP	EACH	2.00	\$1,984.500	\$3,969.00	\$1,400.000	\$2,800.00
0380 TOPSOIL FURN	653-0301 ISHED AND PLAC	TON CED, 4" DEPTH, AS PI	6.00 ER PLAN	\$42.000	\$252.00	\$50.000	\$300.00
0390 SEEDING AND	659-0101 MULCHING, AS F	SY PER PLAN	25.00	\$3.150	\$78.75	\$5.000	\$125.00
0400 WATER VALVE A	901-6362 ADJUSTED TO GR	EACH ADE, PER MCES SPE	10.00 CIFICATIONS	\$503.130	\$5,031.30	\$60.000	\$600.00
0410 WATER VALVE A	901-6363 ADJUSTED TO GR	EACH ADE, PER MCES SPE	2.00 CIFICATIONS, WITH (\$62.480 COUNTY PROVIDED	\$124.96 FRAME AND LID	\$60.000	\$120.00
0420 WATER METER	901-6521 PIT ADJUSTED T	EACH O GRADE PER MCES	1.00	\$503.500	\$503.50	\$600.000	\$600.00
0430 SANITARY MAN	902-2000 IHOLE ADJUSTEI	EACH D TO GRADE, PER MC	5.00 ES SPECIFICATIONS	\$425.110	\$2,125.55	\$375.000	\$1,875.00
0440 SANITARY MAN	902-2005 IHOLE ADJUSTEI	EACH D TO GRADE, PER MC	2.00 ES SPEC, WITH COUI	\$766.300 NTY PROVIDED FRA	\$1,532.60 ME AND LID, AS P	\$750.000 ER PLAN	\$1,500.00
0450 EXCESS COST (915-1201 OF HIGH-EARLY-S	SF STRENGTH CEMENT	400.00 (MEDIUM-SET), 4"-6"	\$0.490 CONCRETE FLATW	\$196.00 ORK	\$0.500	\$200.00
0460 EXCESS COST (915-1301 OF HIGH-EARLY-S	FOOT STRENGTH CEMENT	200.00 (MEDIUM-SET), CON	\$2.430 CRETE CURB	\$486.00	\$2.000	\$400.00

				(3) Adleta	, Inc	(4) LJ DEWEESE CO., INC	
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension
0470 RAISED PAVEM	202-5000 IENT MARKER RI	EACH EMOVED	2.00	\$9.450	\$18.90	\$20.000	\$40.00
0480 RAISED PAVEN	621-1000 IENT MARKER, T	EACH WO-WAY, WHITE-RED	3.00	\$63.000	\$189.00	\$75.000	\$225.00
0490 RAISED PAVEM	621-2000 IENT MARKER, T	EACH WO-WAY, YELLOW-YELLO	22.00 DW	\$63.000	\$1,386.00	\$75.000	\$1,650.00
0500 RAISED PAVEM	621-3000 IENT MARKER, T	EACH WO-WAY, BLUE-BLUE	10.00	\$63.000	\$630.00	\$75.000	\$750.00
Section 2: POR	TION OF OPWC	#CD02T/CD03T (PAVIN	NG OF BAYLOR, BE	RADDOCK & TIFF	'ANY)		
1010 CONCRETE CU	202-2100 JRB AND GUTTER	FOOT REMOVED	40.00	\$6.900	\$276.00	\$12.000	\$480.00
1020 CONCRETE FL	202-3020 ATWORK REMOV	SF ED (9" & UNDER)	500.00	\$3.060	\$1,530.00	\$3.000	\$1,500.00
1030 PAVEMENT PL	254-1000 ANING, ASPHALT	SY CONCRETE	14,400.00	\$1.520	\$21,888.00	\$1.500	\$21,600.00
1040 404LVT, ASPHA	404-1000 ALT CONCRETE S	TON URFACE COURSE, PG 58	1,260.00 -28 (448) (1.25")	\$70.350	\$88,641.00	\$70.000	\$88,200.00
1050 NON-TRACKIN	407-2000 G TACK COAT	GAL	1,440.00	\$1.050	\$1,512.00	\$1.000	\$1,440.00
1060 4" CONCRETE	608A-1050 SIDEWALK, INCL	SF UDING RESTORATION	80.00	\$8.110	\$648.80	\$6.000	\$480.00
1070 6" CONCRETE	608A-3050 CURB RAMP, INC	SF LUDING RESTORATION	420.00	\$14.250	\$5,985.00	\$10.000	\$4,200.00
1080 DETECTABLE V	608A-3083 WARNING, AS PEI	SF R PLAN	20.00	\$21.880	\$437.60	\$42.000	\$840.00
1090 CONCRETE CU	609-1050 JRB AND GUTTER	FOOT 2, IN-KIND, INCLUDING F	40.00 RESTORATION	\$25.970	\$1,038.80	\$34.000	\$1,360.00
1100 MANHOLE ADJ	611-2810 JUSTED TO GRAD	EACH E, TYPE 1	5.00	\$425.110	\$2,125.55	\$375.000	\$1,875.00
1110 MANHOLE ADJ	611-2820 JUSTED TO GRAD	EACH E, TYPE 2	4.00	\$626.020	\$2,504.08	\$625.000	\$2,500.00

				(3) Adle	ta, Inc	(4) LJ DEWEESE CO., INC		
Line Number	Item	Unit	Qty	Price	Extension	Price	Extension	
1120 MANHOLE ADJ	611-2823 USTED TO GRAD	EACH E, TYPE 2, WITH N	5.00 EW FRAME AND LID, A	\$739.040 S PER PLAN	\$3,695.20	\$725.000	\$3,625.00	
1130 WATER LINE V	901-6310 ALVE BOX ADJUS	EACH FED TO GRADE, PI	10.00 ER MCES SPECIFICATIO	\$92.920 NS	\$929.20	\$60.000	\$600.00	
(64 Items)			Totals:		\$844,642.49		\$853,019.00	